SIRAAUS ATSID 3lofAello] Bd Uforsivr ufdyq , it
arft u3tetr (2023-24)

HIS T U1 UBT
o8- 9 fdRr- srfvra AR | el 30 Brole quIicp- 40
Class-9 Subject- Mathematics Time - 1Hr. 30 Min. Full Marks-40

1316 fo1691/ GENERAL INSTRUCTIONS :
© et 40 U5 3
There are 40 Questions.
o 313t Uil &b 3R siforart 3
All questions are compulsory.
® UAD Ul & fe1e 1 3 forarifa 3l
Each question carries 1 mark.
® URIPD U%I & AR fddcy [ s1e 8 218l fdawcu oI a=iol HIfSR
Four options are given for each question . Choose the correct one.
@ 3[cTeI IR O feT8 IS 3D oldl PDIC SIIusll
No marks will be deducted for wrong answer.

1. forsotfetRae 31 3 Dlot SMURIART =1 37

@@ Vo (b) T (¢) 0.333... (d) V225
Which of the following numbers is irrational ?
@ 9 b) = (¢) 0.333... (d) V225

2. ool 31 3 plet 2t e 'a' 3R b b dffa Rera a8 ?

a+b a—b
(a) ab b = (c)=n (d) a/b
Which of the following numbers lies between 'a' and 'b".
a+b a-b
(a) ab b) == © =~ (d) ab

3. (V75 (V7+ V5) =2

(a) 25 (b) 2\7 () 24 ()2
(7-V5) (V7 Vs5) =2
(a) 25 (b) 2\7 () 24 ()2

4. (125)° RER &:

(a 5 (b) 15. (c) 25 (d) 125
(125)" is equal to :
(@ 5 (b) 15. ©) 25 (d) 125

5. Soldl A Dlol U TUG oldl 37

(a) > +6x+7 0 x+Vsyt4  (©)x + 5/y+105 (d) x-2y+\5
Which of the following is not a polynomial?
(a) > +6x+7 (b) x+\5y+4 (©) x+ 5/y+105 () x-2y+\5
6. WBUG 5x+3 DI IUGRID &:
(a) -3 (b)-3/5 (c)-5/3 (d) -5
The zero of polynomial 5x+3 is :
(@) -3 (b) - 3/5 (c)-5/3 (d)-5
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7. IS p(x)=x" + x*+x+1 81, dlp(-1) DI IIGl SPIL:

(a)4 (b)0 ()7 @) -1
If p(x)=x’ + x’+x+1 , then value of p(-1) will be :
(a4 (b)o (c)7 (d) -1
8. WBUG x'+5x+6 DI SUIGRAS 3:
(a) (x+2)(x+5) (b) (x+3)(x+6)
(©) (x+2)(x+3) (d) (x+5)(x+6)
Factorisation of polynomial x*+5x-+6 is :
(a) (x+2)(x+5) (b) (x+3)(x+6)
(¢) (x+2)(x+3) (d) (x+5)(x+6)
9. Y- 3181 W Rera fpi feig oot forderiap forgot 31 A fvat »u @1 8l 8 2
(@) (0,0) (®) (0,y) () (x,0) (d) (a, b)
Which of the following is the coordinate of a point on the Y-axis?
() (0,0) (®) (0.y) (c) (x,0) (d) (a, b)
10. fdig@3.7) bl 8:
(a) (b)-3 (¢) 7 (d)-7
The ordinate of coordinate (3,7) is:
(@ 3 (b)-3 (c) 7 (d) -7
11. 3Ram Iefiwvr 3x - 2y =5 ﬁ{‘lﬂ?ﬁﬁax+by+c =0 A Dol U2 a, b T ¢ P Il Biol:
(a) a=3,b=-2,c=5 (b) a=-3, b=-2, c=-5
(c) a=3,b=-2,c=-5. (d) a=-3, b=2, c=-5
Comparing the equation 3x - 2y = 5 with ax+by+c =0 the-value of a, b and ¢ will be :
(a) a=3, b=-2, ¢c=5 (b) a=-3, b=-2, c=-5
(c)a=3, b=-2, c=-5. (d) a=-3, b=2, c=-5

12. Al x=2 30 y=3 AHBIUT 2x+3y=k DI BT B, Al 'k' DI ol BIPI:
(@ 23 (b) 13 (c) 12 (d) 15
If x=2 and y=3 is solution of linear equation 2x+3y=k , then value of 'k' is :
(a) 23 (b) 13 () 12 @15

13. 3Raa Ietias2ur 3x-2y=0 BT UD BT B-

(a) x=3,y=2 (b) x=3,y=-2 (c) x=2,y=3 (d) x=3, y=0
A solution of equation 3x-2y=0 is :
(a) x=3,y=2 (b) x=3,y=-=2 (c) x=2,y=3 (d) x=3, y=0

14. Q) ol ORI Rig fdp=r oI Addl 8, daclidr 3

(a) Uf¥smeI (b) ifdEEta (c) UI=T (d) arfdrerum
Statement which can be proved, is known as :
(a) Definition  (b) Axiom (c) Theorem (d) Postulate
15. QY faroot feigail 31 Bl2 fapcofl 2ars it Al & 2
(a) 1 (b) 2 (c) 3toid d0
How many lines can be drawn through two distinct points?
(a) 1 (b) 2 (c) 3ol (d)o
16 . 80° I UID TIUI DI HI6T TR 911
(a) 10° (b) 100° (c) 120° (d) 90°
The complementary angle of 80° is :
(a) 10° (b) 100° (c) 120° (d) 90°

17. oftcl &t areft amepfet 91, F2ard XY 3liz MN fdg O U uferesds wcdt 81 afg £PoY = 90° 3l
a:b=2:3§,?ﬁc@m@'ﬂ[z
(a) 60° (b) 100° (c) 108° (d) 126°
In the given figure, lines XY and MN intersect each other at point O. If ZPOY =90° and
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a:b=2:3, then value of ¢ will be :
(a) 60° (b) 100° (c) 108° (d) 126°

18. 3epfer f, AfG OP || RS &, ,OPQ =110° 3I¥ L QRS= 130° &, el , PQR I Aol BIOIL:

(a) 60° (b) 90° (c) 50° (d) 40°
In figure, if OP || RS, value of ZOPQ = 110° and ZQRS= 130°, then value of ZPQR will be :
(a) 60° (b) 90° (c) 50° (d) 40°
R S
O P / ——
X 130°
10°
e i
19 . forootifcpe 3t 3 wlot Brogsil bt Aafsrrerar bt a2t ol 82
(a) ASA (b) SSS (c) AAA (d) SAS
Which of the following is not a criterion for congruence of triangles?
(a) ASA (b) SSS (c) AAA (d) SAS
20. AABC diafe AB= AC 3R £B =70° &l, dl £ZA DI AI6l E91L:
(a) 40° (b) 110° (c) 70° (d) 20°
In AABC if AB= AC and £B =70°, then value of ZA will be
(a) 40° (b) 110° (c) 70° (d) 20°

21. G TAGYST D DIVT 2:3:5:8 D Hofulcd I §| $A AJSST b AR TS PDIVI DI Alol BIoI :

(a) 360° (b) 180° (c) 160° (d) 90°
Angles of a quadrilateral are in the ratio of 2:3:5:8. Value of largest angle of quadrilateral is :
(a) 360° (b) 180° (c) 160° (d) 90°

22. forFol 3 A fbotch fAput AADIVT U2 JAAHIGHIIIA Blel 87
(a) TS (b) AHITR AL (c) SIRIA. (d) A"
In which of the following quadrilateral diagonals bisect each other at right angle.

(a)Rhombus (b) Parallelogram (c) Rectangle. (d) Trapezium
23. 3IIRIC & #fSTI3il & e feig I frctrol 3 wofol arell AT Blol :
(a) TS (b) AHITR AL (c) @t (d) 3IRIA

The quadrilateral formed by joining the midpoints of the sides of a rectangle will be:
(a)Rhombus (b) Parallelogram (c) Square. (d) Rectangle

24. 3IPIeT I ABCD U AHIGAR AQHSI 8 fSR1 BC=12 cm Tl AE =6 cm &1, dl A2 ATIST DI
eIt &:
(a) 36 cm’ (b) 18 cm’ (¢) 72 cm’ (d) 144 cm’

In figure ABCD is a parallelogram in which BC=12 cm and AE= 6 cm, then area of
parallelogram is :

(a) 36 cm’ (b) 18 cm® (¢) 72 em’ (d) 144 cm®
A D
B = c
25. U AR AISI 3R wop BIofel vep 8l IR el oL 23l & dffa e & | &l Bl oI gIwet 12 em’ 81, Al
JAHITR TABIST DI SHIWcT BIGT:
(@) 12 em’ (b) 6 cm’ (c) 24 em’ (d) 18 cm®
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A parallelogram and a triangle lie on the same base and between parallel lines. If area of the triangle is 12 cm’, then the area of
the parallelogram will be:

(@) 12 cm’ (b) 6 cm’ (c) 24 cm’ (d) 18 em®
26. ge1 DI ARA ot Shar e 8 :
(a) Bre=r (b) =IRA (c) T (d) SoT31 PIS o1at|
The longest chord of a circle is:
(a) Radius (b) Diameter (c) Arc (d) None of the above
27. g1 bl uep Siiar 1 bl Bre & SRIaR & | Siidr gIRI g U= 3iii¥d PIvl ol el 8191 :
(a) 50° (b) 120° (c) 60° (d) 100°
A chord of a circle is equal to the radius of the circle. The angle subtended by the chord at the centre of the circle will be:
(a) 50° (b) 120° (c) 60° (d) 100°
28. 3IIPIeT A L ACB T Il TrI Bl ?
(a) 50° (b) 20° (c) 25° (d) 100°
In figure, value of ZACB is :
(a) 50° (b) 20° (c) 25° (d) 100°
C

>

L

29. Bp BRLGI ABC 3 AB=6 cm a2l ZA =90° 8 | 531 DPI3fsl bl Icoll A#91d ol8] 8 Al BC eI AC DI Al 8:
(a) 8cm (b) 10 cm (¢) 6. cm (d) 12 cm
In a triangle ABC, AB=6 cm and ZA =90°. The construction of this triangle is not possible if the sum of BC and AC is:
(a) 8 cm (b) 10 cm (c) 6 cm (d) 12 cm
30. 331 BIIISI DI 1Wel Tl BISM 311! #1518 5 cm , 12 em AL 13 cm & ?
(a) 30 cm’ (b) 40 cm’. (¢) 78 cm’ (d) 65 cm’
If the sides of a triangle are 5 cm, 12 cm and 13 cm, its area will be :
(a) 30 cm’ (b) 40 cm’. (c) 78 cm’ (d) 65 em’
31. 3 AAEIE BrgIsTt T ST el BT A Teiep gait 212 om & 2
(2) 8V3 cm’ (b) 8V2 cm’. ©2V3em® () 6V3em’
The area of an equilateral triangle with side 2\/2 cmis:
(2) 8V3 cm’ (b) 8V2 cm’. ©2V3em® () 6V3 cm’
32. U 91 P MR DI XK 10.5 3t 3, 3112 534! foRD Sars 10 em 31 9igp T acb TESkI gbTwet 3:
(a) 164 cm’ (b) 235 em’ (c) 165 cm’. (d) 263 cm’
The diameter of the base of a cone is 10.5 cm, and its slant height is 10 cm. The curved surface area is:
(a) 164 cm’ (b) 235 cm’ (¢) 165 cm’. (d) 263 cm’
33. afd e detol bl Brsel 4 em 3112 $ar$ 10 cm 8, Al AcTol I Pl YESIRI 1B & :
(a) 440 cm’ (b) 352 em’ (c) 400 cm”. (d) 412 cm’
If the radius of a cylinder is 4 cm and height is 10cm, then the total surface area of cylinder is:
(a) 440 cm’ (b) 352 cm’ (c) 400 cm’. (d) 412 cm’
34. QD Yol Pl RIo] 3R Pel YULSRI SHIBeT JXRICAD BU A RISR 3, Al 5 dol bl 91 Blot :
(a) 1 AGID (b) 2 ABID (c) 4 AGID (d) 6 ABID
If the volume and total surface area of a cube are numerically same, then the side of this cube will be:
(a) 1 unit (b) 2 units (c) 4 units (d) 6 units
35. 3.5 cm DI arel siiel 1 Us3RI 8151 SIoT:
(@) 77 cm’ (b) 154 cm’ (c) 308 cm’ (d) 77/2 em’®
The surface area of a sphere of radius 3.5 cm is :

(a) 77 cm’ (b) 154 cm’ (c) 308 cm’ (d) 77/2 em’
36. UCIH 3 I JCRA3ML D HATE Bl :
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(a)2 ®) 6 (c) 4 (d 12

Mean of first 3 even number is :

(a) 2 (b) 6 (c) 4 (d 12
37. U fopdbe 3t 3 v Raarst orusel 10 Ul 3 12, 18, 13, 5, 4, 11, 5, 5, 6, 12 dolle | Racis! GIR1 del1e sTe a1l ol
decldd 3
(a) 18 (b) 12 ©5 (d) 13
In a cricket match a player scored 12, 18, 13, 5, 4, 11, 5, 5, 6, 12 in the first 10 innings. Mode of run scored by the player is :
(a) 18 (b) 12 ©5 (d) 13
38. 3ilPS 2,7,9,5,11,13,8 DI HATEAD &
(a)5 (b) 7 (©8 (d 11
The median of data 2,7,9,5,11,13,8 is :
(a)5 (b) 7 (©8 (11
39. B RIad @I 1000 dR IBIcTol U2 RIA 600 IR UM BIT 3, Al Ue 3MIol bl UIRIbdI 3:
(a) 3/5 (b) 2/5 (c) 4/5 (d) 6/5
A coin is tossed 1000 times and the heads are obtained 600 times. The Probability of getting a tail is:
(a) 3/5 (b) 2/5 (c)4/5 (d) 6/5
40. fo1f21e u 21 afed Blol arctl acelr i uIRmdr 3idl 3 :
@0 (b) % (©1 (d) %
Probability of sure event is :
@0 (b) ¥ (©1 (d)%
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3IRIAUS IISID 3lofeinol ud Ufdrgror ufvg, it
UfeIG9I U961l I 3712 ( Answer of model question paper)

dEll: 9 fAwRT: srfvra
U1 2T 3R %1 ST 312
1. b 21. C
2. b 22. a
3. d 23. a
4. Cc 24, C
5. c 25. C
6. b 26. b
7. b 27. C
8. C 28. C
9. b 29. C
10. C 30. a
11. c 31. C
12. b 32. C
13. C 33. b
14. Cc 34, d
15. a 35. b
16. a 36. C
17. d 37. C
18. a 38. C
19. C 39. b
20. a 40. C
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